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Statements:

At least some Homes are House.
Every Houses are Building.

All Buildings are Apartment.
Conclusions:

I). All Apartments are House.
IT). All house being building is a possibility.

a) Only conclusion I follows

b) Only conclusion II follows

¢) Either conclusion I or II follows

d) Neither conclusion I nor II follows
e) Both conclusions I and II follow
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Statements:

A few Three is Seven.

No Seven is Four.

Only Four is One.

Conclusions:

I). All three being Four is a possibility
IT). All Four being Three is a possibility

a) Only conclusion I follows

b) Only conclusion II follows

¢) Either conclusion I or II follows

d) Neither conclusion I nor II follows
e) Both conclusions I and II follow
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Statements:

Only a few Puma is Adidas.
Some Adidas is not Nike.
All Reebok is Puma.
Conclusions:

I). Some Adidas are Reebok is a possibility.
II). All Puma can be Nike.

a) Only conclusion I follows

b) Only conclusion II follows

¢) Either conclusion I or II follows

d) Neither conclusion I nor II follows
e) Both conclusions I and II follow
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Statements:

Some Ears are Eye.

No Eye is Leg.

All Legs are Nose.
Conclusions:

I). Some Ears are not Nose.
IT). All Noses can be Eye.

a) Only conclusion I follows

b) Only conclusion II follows

¢) Either conclusion I or II follows

d) Neither conclusion I nor II follows
e) Both conclusions I and II follow
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Statements:
O>HZ2W=DZ2I;R>G>MZ2H=B;X=UZ2M

Conclusions:
| D, @ |
II.I=X

a) Only conclusion I follows

b) Only conclusion II follows

¢) Either conclusion I or II follows

d) Neither conclusion I nor II follows
e) Both conclusions I and II follow
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Statements:
Y<E<GSH;W>F=T>G;PSA<W

Conclusions:
. E<A
I.LP>Y

a) Only conclusion I follows

b) Only conclusion II follows

¢) Either conclusion I or II follows

d) Neither conclusion I nor II follows
e) Both conclusions I and II follow



Which of the following symbols should replace the question mark

in the given statement in order to make conclusion 'W = F°* as
well as ' P > Y' definitely true?

M>W=P?F2T>Y

a) >
b) <
C) >
d) =
e) None of These

% @Reasoningbybasantsir



In which of the following expressions 'L > P¢ as well as ' J > P’
hold definitely true?

a)L>X>E=P<HSJ
b)L2ZX=E>PSH<J
)L=X>EZ2P<H<J
d) All of the Above

e) None of These

4 @Reasoningbybasantsir



In a certain code language,

‘HELLO BUT TRUE’ is written as ‘R1S P3R P1E’,
‘WONDER AM HELLO?’ is written as ‘P3R W4H USDI’,
‘HIS WONDER TRUE’ is written as ‘US8I P1E JIK’ and
‘GREAT DEAL WONDER’ is written as ‘B7Y USI MS5T"°.
Then...

What is the code for ‘HIS’?
"HIS' <hT ST RIS BRTT?

01. USI

02. JIK

03. P1E

04. P3R

05. Either option (02) or (03)
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In a certain code language,

‘HELLO BUT TRUE’ is written as ‘R1S P3R P1E’,
‘WONDER AM HELLO?’ is written as ‘P3R W4H USDI’,
‘HIS WONDER TRUE’ is written as ‘US8I P1E JIK’ and
‘GREAT DEAL WONDER’ is written as ‘B7Y USI MS5T"°.
Then...

What is the code for ‘GREAT’?
'GREAT' &1 IT SIS EITT?

01. W4H

02. B7Y

03. MST

04. USI

05. Either option (02) or (03)
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In a certain code language,

‘HELLO BUT TRUE’ is written as ‘R1S P3R P1E’,
‘WONDER AM HELLO?’ is written as ‘P3R W4H USDI’,
‘HIS WONDER TRUE’ is written as ‘US8I P1E JIK’ and
‘GREAT DEAL WONDER’ is written as ‘B7Y USI MS5T"°.
Then...

What is the code for ‘TRUE’?
'TRUE' T &1 i< RIT?

01. USI

02. JIK

03. P1E

04. P3R

05. RIS
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In a certain code language,

‘HELLO BUT TRUE’ is written as ‘R1S P3R P1E’,
‘WONDER AM HELLO?’ is written as ‘P3R W4H USDI’,
‘HIS WONDER TRUE’ is written as ‘US8I P1E JIK’ and
‘GREAT DEAL WONDER’ is written as ‘B7Y USI MS5T"°.
Then...

What is the code for ‘AM’?
' AM' ThT ST RIS BITT?

01. W4H

02. B7Y

03. MST

04. USI

05. None of these

% @Reasoningbybasantsir
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Seven persons A, C, P, L, J, K, F are sitting around a circular
table but not necessarily in the same order. Only two of them are
facing inside. Three persons are sitting between F and P when
counted from the right of F. L is sitting second to the left of K
who is facing inside. L is not an immediate neighbor of A or F.
Both the immediate neighbors of K are facing in opposite
direction as that of K. The person sitting adjacent to both J and
P is facing outside. A is sitting to the immediate left of F and
facing outside. J is an immediate neighbor of neither F nor P. L is
sitting to the immediate left of P.
ATa AE A, C, P, L, J, K, F Ueh TATHRT BT & IRT TR AS &
SAfeh &L ET {oh g6t ShH | BTl ITH W el a1 ol HE S hT
3R 2 F & T2 3R & Fet a3 WX F 31K P & ofier 17 safwh 96 2
L, K o 973 3T 6 T UT a7 &, Rt 7@ oiat &l TR L, A
a1 F w7 fAehead Ut 781 81 K & g1 fsheaw ueifeat s 7@ K
| [ o STl H oS S Txh oh! W AT hl
AR A, F o Sieh aTE 3R T8T § o arex b1 oI 7@ fhu gu ) J
T F TR T8 P T [Heheaw ugiHt 21 L, P o 3ieh 918 37X 93T 2
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Seven persons A, C, P, L, J, K, F are sitting around a circular
table but not necessarily in the same order. Only two of them are
facing inside. Three persons are sitting between F and P when
counted from the right of F. L is sitting second to the left of K
who is facing inside. L is not an immediate neighbor of A or F.
Both the immediate neighbors of K are facing in opposite
direction as that of K. The person sitting adjacent to both J and
P is facing outside. A is sitting to the immediate left of F and
facing outside. J is an immediate neighbor of neither F nor P. L is
sitting to the immediate left of P.

Who is sitting to the immediate right of J?

GV
(b) C
(c) F
(d) L
(e) A



Seven persons A, C, P, L, J, K, F are sitting around a circular
table but not necessarily in the same order. Only two of them are
facing inside. Three persons are sitting between F and P when
counted from the right of F. L is sitting second to the left of K
who is facing inside. L is not an immediate neighbor of A or F.
Both the immediate neighbors of K are facing in opposite
direction as that of K. The person sitting adjacent to both J and
P is facing outside. A is sitting to the immediate left of F and
facing outside. J is an immediate neighbor of neither F nor P. L is
sitting to the immediate left of P.

How many persons are sitting between K and P?

(a) 1
(b) 2
(c) 4
(d) 3
(e) Either 2 or 3 persons



Seven persons A, C, P, L, J, K, F are sitting around a circular
table but not necessarily in the same order. Only two of them are
facing inside. Three persons are sitting between F and P when
counted from the right of F. L is sitting second to the left of K
who is facing inside. L is not an immediate neighbor of A or F.
Both the immediate neighbors of K are facing in opposite
direction as that of K. The person sitting adjacent to both J and
P is facing outside. A is sitting to the immediate left of F and
facing outside. J is an immediate neighbor of neither F nor P. L is
sitting to the immediate left of P.

If A and L interchange their positions, who will be sitting to the
third left of L?

(a) P
(b) K
(c) A
(d) L
(e) None of these



Seven persons A, C, P, L, J, K, F are sitting around a circular
table but not necessarily in the same order. Only two of them are
facing inside. Three persons are sitting between F and P when
counted from the right of F. L is sitting second to the left of K
who is facing inside. L is not an immediate neighbor of A or F.
Both the immediate neighbors of K are facing in opposite
direction as that of K. The person sitting adjacent to both J and
P is facing outside. A is sitting to the immediate left of F and
facing outside. J is an immediate neighbor of neither F nor P. L is
sitting to the immediate left of P.

Four of the following five are alike in a way and hence form a
group. Choose the one that does not belong to the group.

(a) F
(b) K
(c) J
(d) L
(e) A

>
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Seven persons A, C, P, L, J, K, F are sitting around a circular
table but not necessarily in the same order. Only two of them are
facing inside. Three persons are sitting between F and P when
counted from the right of F. L is sitting second to the left of K
who is facing inside. L is not an immediate neighbor of A or F.
Both the immediate neighbors of K are facing in opposite
direction as that of K. The person sitting adjacent to both J and
P is facing outside. A is sitting to the immediate left of F and
facing outside. J is an immediate neighbor of neither F nor P. L is
sitting to the immediate left of P.

Who is sitting to the fifth right of F?

(a) A
(b) L
(c) P
d K
Qe
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Eight members of a family are living in a house, in
which two are married couples. N is the father of D.E
is married to N. G and D are siblings. C is married to
G. N has no son. K is the father of E. Q is the only son
of C. A is the brother-in-law of N. ’

Ueh UNER ok 3116 U Ush T W & ® 8, ’ma ar
foattea g €1 N, D &1 fusT 21 E &7 foramg N & ga1 &)
G T D WTE-91g & C 1 forame G A g I N shials
g 81 81 K, E T fUaT 81 Q, C T SheAlat UA 8l A, N
<hT STEL-3-¢T 8|
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Eight members of a family are living in a house, in
which two are married couples. N is the father of D.E
is married to N. G and D are siblings. C is married to
G. N has no son. K is the father of E. Q is the only son
of C. A is the brother-in-law of N.

Who among the following is the son-in-law of N?

(@) G
(b) K
(¢) C
(d) Q
(e) None of these



Eight members of a family are living in a house, in
which two are married couples. N is the father of D.E
is married to N. G and D are siblings. C is married to
G. N has no son. K is the father of E. Q is the only son
of C. A is the brother-in-law of N.

How K is related to D?

(a) Father

(b) Uncle

(¢) Grand Mother
(d) Grand Father
(e) None of these
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Eight members of a family are living in a house, in
which two are married couples. N is the father of D.E
is married to N. G and D are siblings. C is married to
G. N has no son. K is the father of E. Q is the only son
of C. A is the brother-in-law of N.

Which of the following statement is true?

(a) K is the mother of A

(b) D and C are Siblings

(¢) Qis the son of A

(d) N is the husband of E
(e) None is correct



IBPS PO Pre 2020
- PYP

4 @Reasoningbybasantsir

Five persons T, N, R, C and G went to the market on different days
of a week from Monday to Friday, but not necessarily in the same
order. They wore different types of cloths among Cotton, Silk,
Wool, Leather and Linen. Additional information about them is
given below. Three persons went to the market between the
persons who wore Cotton and Leather. T wore Silk cloth and went
on one of the days after C. C did not wear Linen. Two persons
went to the market between R and N. R and G did not wear
Leather. The number of persons who went to the market before N
is more than the number of persons went to the market after N. C
did not go to the market on Monday.
gie 4 T, N, R, C 3R Gmﬂéwwm% S-3TeT
famt o TR T, SrfeRa St A TR ST sRE | B A T, Yor, S,
THeT AR o= S fafir= Terie & /a2 ugaa o) 39 an | Al
AR fer §t 718 2, |l AR ST Uge ATt safwdi o sfte i
<k AT MU T A W hT HUST UEAT R C & a1e foret ver im
AT C  fof= 781 98Tl R TR N & &fter & a3t aTeR U R 3R G
F THST TET UEAT ATl N ¥ Ugel STSTR ST JTel Sahal ehi 9&aT N 6
gawaﬁaﬁaqﬁm‘iaﬁﬁwﬁ 31Tereh Bl C AHAR i FTER
=l
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Five persons T, N, R, C and G went to the market on different days
of a week from Monday to Friday, but not necessarily in the same
order. They wore different types of cloths among Cotton, Silk,
Wool, Leather and Linen. Additional information about them is
given below. Three persons went to the market between the
persons who wore Cotton and Leather. T wore Silk cloth and went
on one of the days after C. C did not wear Linen. Two persons
went to the market between R and N. R and G did not wear
Leather. The number of persons who went to the market before N
is more than the number of persons went to the market after N. C
did not go to the market on Monday.

Who went to the market on Monday?

(a) C
(b) R
(¢c) G
(d N
(e) None of these
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Five persons T, N, R, C and G went to the market on different days
of a week from Monday to Friday, but not necessarily in the same
order. They wore different types of cloths among Cotton, Silk,
Wool, Leather and Linen. Additional information about them is
given below. Three persons went to the market between the
persons who wore Cotton and Leather. T wore Silk cloth and went
on one of the days after C. C did not wear Linen. Two persons
went to the market between R and N. R and G did not wear
Leather. The number of persons who went to the market before N
is more than the number of persons went to the market after N. C
did not go to the market on Monday.

C wore which type of cloth?

(a) Leather

(b) Linen

(¢) Cotton

(d) Wool

(e) Either 1 or 2
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Five persons T, N, R, C and G went to the market on different days
of a week from Monday to Friday, but not necessarily in the same
order. They wore different types of cloths among Cotton, Silk,
Wool, Leather and Linen. Additional information about them is
given below. Three persons went to the market between the
persons who wore Cotton and Leather. T wore Silk cloth and went
on one of the days after C. C did not wear Linen. Two persons
went to the market between R and N. R and G did not wear
Leather. The number of persons who went to the market before N
is more than the number of persons went to the market after N. C
did not go to the market on Monday.

How many persons went to the market between T and N?

(a) One
(b) Two
(¢c) Zero
(d) Three
(e) Four
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Five persons T, N, R, C and G went to the market on different days
of a week from Monday to Friday, but not necessarily in the same
order. They wore different types of cloths among Cotton, Silk,
Wool, Leather and Linen. Additional information about them is
given below. Three persons went to the market between the
persons who wore Cotton and Leather. T wore Silk cloth and went
on one of the days after C. C did not wear Linen. Two persons
went to the market between R and N. R and G did not wear
Leather. The number of persons who went to the market before N
is more than the number of persons went to the market after N. C
did not go to the market on Monday.

Who went to the market at the first and last respectively?

(a R,C
(b) G,N
(¢ T,N
d G,R
() C,N



4 @Reasoningbybasantsir

Five persons T, N, R, C and G went to the market on different days
of a week from Monday to Friday, but not necessarily in the same
order. They wore different types of cloths among Cotton, Silk,
Wool, Leather and Linen. Additional information about them is
given below. Three persons went to the market between the
persons who wore Cotton and Leather. T wore Silk cloth and went
on one of the days after C. C did not wear Linen. Two persons
went to the market between R and N. R and G did not wear
Leather. The number of persons who went to the market before N
is more than the number of persons went to the market after N. C
did not go to the market on Monday.

Which of the following statement is false?

(a) R did not go on Friday.

(b) C did not wear Leather.

(¢) One person went to the market between the persons who wore
Wool and Leather.

(d) N went on Thursday.

(e) C and T went to the market on consecutive days.
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